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Module Sum Total Signal Rate per APA, as a Function of Int ADC
Multlple Runs Module Sum Total Signal Rate per APA, as a Function of Int ADC
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Sensl. Calibrations for APAs 1-3

Raw Persistence Traces Channel 96

Int 96

Int 96

er_trace_chan_96

Entries 103815
Mean 1388
Std Dev 4386

s 2.02824e+08 10%
lean x 1001
ean 1548

av X

av

.
v

I W | |
00 2000

1 1 1 1 1 1 1 1 1 1 1 1 1 1 I
-10000 0 10000 20000

30000 40000 50000

L L I L | do ]
00 400

1 | A
600

1400 1600 18

 Use Leon’s Processed Runs, extracting Root Ttree information, such as:
» Pedestal calculation (using 725 samples)
* Integration, using fixed intervals
« Beamint -[700,1975] samples
* Pulserint - [1050,1550] samples
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SensL Calibrations, using BeamInt Window

Int 96

Int 96
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* Fit the first 4 PE peaks with a gaussian, using TF1 fit.
* Fit range - [Peak-500, Peak+500]
 Linear Fit, via TF1 fit, using

* mean of each peak
* sigma as error
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SensL Calibrations @ 27.5

Int 96

E Mz 1361
E Sid Dav 273
S 1 1 1 I I | 1
[] 2000 4000 E000 8000 10000 120000 14000
Linear Fit - ch 96
6000—
[ ye 100220 (17.09)| ChizoF: 260
5000 —
4000
3000
2000~
1000~
oF
27T s 05 1 5 2 25 3 35 4
[PE]

Int 97 Int 98
lnt 87
Entries 11412
L] 1555
Sid Dav 2062

E.l 1 I I 1 1 1 I
a 2000 4000 SO0l [ 15 10000 12000 14000
Linear Fit - ch 97
6000{— %
[T y=2038.80% + (20.18) | Chi2/DoF: 4.42
5000[—
2T 08 0.5 1 15 2 25 3 35

Linear Fit - ch 98

6000—

5000

4000

¥ = 2017.96' + (32.98) | Chi2/DoF: 1.88

3000

2000

1000

-05 05 1 15 2 25 3 35

4
[PE]

Int 99

Eal 1 I 1 I 1 | 1
[] 2000 4000 SO0 BOOD 10000 12000 14050
Linear Fit - ch 99
6000{—
£ y=200000 « (26.76)| ChidiDoF: 0.8
5000[—
2T 08 0.5 1 15 2 25 3 35

Chris Macias | ProtoDUNE PD Update| Feb 2019




SensL Calibrations @ 27.0
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SensL Calibrations (@ 26.5
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SensL Calibrations (@ 26.0
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SensL Calibrations @ 25.5
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SensL Calibrations @ 25.0
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SensL Calibrations @ 24.5
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SensL Calibrations (@ 24.0
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SensL Calibrations (@ 23.5
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SensL Calibrations (@ 23.0
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SensL Calibrations (@ 22.5
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APA-3, Module 1 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 2 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 3 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 5 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 6 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 7 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 8 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 9 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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APA-3, Module 10 ADC/Avalanche vs. Voltage

[ADC[AvaIa nche] vs. Vqltage
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SensL Calibrations, BeamlInt vs PulserInt

Raw Persistence Traces Channel 96
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 Use Leon’s Processed Runs, extracting Root Ttree information, such as:
» Pedestal calculation (using 725 samples)

* Integration, using fixed intervals

« Beamint -[700,1975] samples
* Pulserint - [1050,1550] samples
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SensL Calibrations, BeamInt vs PulserInt

Int 96
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* Fit the first 4 PE peaks with a gaussian, using TF1 fit.

» Same fit range - [Peak-500, Peak+500]

 Linear Fit, via TF1 fit, using
* mean of each peak
* sigma as error
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - BeamlInt vs. Pul

0.10 : : : :

« « 103/116 Channels < 10%

Zerod=s==p | < 13/116 Channels > 10%

A

E 0.05

5

& ;s

£ . .

% 3 --' * l:'-" ‘l’$$.'.. - .": -J.' .."'-': :

e g .

V 000 LTI } sses e’ s s &,

= : .“ I

£

g

&

£

g

IS

3

2 -0.05}

E

~0.105 20 40 60 80 100 120 140
Channel

serint Co

mparison @ 27.5V

5 . ‘ ‘ ‘ ‘ Run6l624
Bl 103/116 Channels < 10%

20!

15}

10}

5l

850 =015 —010 =005 000 005 010 015

0.20

(m Beamint ~ mPuIserInt)/ < Mpeamint» Mpulserint =

28

Chris Macias | ProtoDUNE PD Update| Feb 2019



ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - BeamlInt vs. Pul
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - Beamint vs. Pulserint Comparison @ 26.5 V
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - BeamlInt vs. Pul
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - BeamlInt vs. Pul
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - Beamint vs. Pulserint Comparison @ 25.0 V
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - BeamlInt vs. Pul
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - BeamlInt vs. Pul
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ADC/Avalanche - BeamInt vs PulserInt

ADC/Avalanche (m) - Beamint vs. Pulserint Comparison @ 23.0 V
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ADC/Avalanche - BeamInt vs PulserInt
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ADC/Avalanche - BeamInt vs Pul: Int5
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ADC/Avalanche - BeamInt vs Pul: Int0
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ADC/Avalanche - BeamInt vs Pul: Int 49
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ADC/Avalanche - BeamInt vs Puls
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ADC/Avalanche - BeamInt vs Pul: It 50
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